PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
20th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Where does River Tamsa also called as Toan originate? / T au foraet arsie o EEICIRSGIGH eFer

Id gl 82
® Shahpura / RMTEYRT
® Matkai Hills/ AiCPs oed
® Hoshangabad / Eﬂm
® Satna / Hd-Tl
Correct Answer :-Satna / dd-l
2)
Question Stimulus :-

The term Grand Slam is associated with ___ ./ Rl e  WAF Y ST g3l gl
® Tennis / ¢f-
* Cricket/fpdbe
e Carrom/HH
® Gymnastics / PIAId
Correct Answer :-Tennis / ¢f-/
3)
Question Stimulus :-

What is the day on 8th December 2016? / 8 feTwR 2016 & Fi4 4T fe7 82
e Monday / THOR
* Tuesday / HIddR

®* Wednesday / §YUdR

()



®* Thursday / [dRR
Correct Answer :-Thursday / T¥dRR
4)
Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I
will have acidity. I am hungry so the bread was toasted. / gfe 95 # e T oaT g ofiR
I W AT TTT 16T g, f a1 af & 4T I8 ST a1 Yo Thafsdt g 9ait | & 4 § s9iae 9
@I eiee fopar T Ut

e True / gl

e False / Tdd

e Maybe / 8 J&dl &

e Irrelevant / SIS

Correct Answer :-Maybe / 8 I&dl &

5)
Question Stimulus :-

Following are the three positions of a cube. / ﬁn;r 4 o1 o9 Rufaai %

c‘ e

DiceX Dice Dice Z

Which country names lies at the bottom face of dice Y? / B a-!\,ﬁ & A9 CIER R & T Bad R R %:?
® CHINA
® |TALY
® USA
® NONE

©)



Correct Answer :-CHINA

6)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 98 faee ﬂﬁl'q,i‘ﬁ' e T

IR T FF S IR E :

It is not true that both Nimo and Nena went to movie. /quﬁ?ﬁ?ﬁﬁ aﬁvﬂ‘vnaﬁ'—ﬁ‘é’r
frew 1 A

e Nimo didn’t go to movie or Nena didn’t go to movie. / =S¥ fred T8 Wt &t a1 = frew
Tl WA <0t

* Nimo didn’t go to movie and Nena didn’t go to movie. / for fores <18 TRit A ofiw fien
oo =1g) W <0

e Nimo went to movie and Nena didn’t go to movie. / 5/ fteed Y & ofik == fbew 1Y
Tt <A

e Nimo didn’t go to movie and Nena went to the movie. / o oo 78 WY <&t ik =
e Wit 411

Correct Answer :-Nimo didn’t go to movie or Nena didn’t go to movie. / <} fFe T8t
Tt &Y a1 =T fieew 6t Wit 4t

7)
Question Stimulus :-

Who designed the Madhya Pradesh Vidhan Bhavan?/ A€ Ue=T faema wa= & foram sifyefeua fovar ur?

® Charles Correa / ITeH BRI
® Mahendra Raj /'FI%S"{W

* Satish Gujral / TR [oRTA
* Laurie Baker / @RI 9%

Correct Answer :-Charles Correa / ITeH DIRI

8)
Question Stimulus :-

A number is greater than 3 but less than 8. Also it is greater than 6 but less than 10.

The number is / T& T&AT 3 A 3P g, AP 8 A $H &1 TP 3IaTdl 98 6 A AP ¢, Afh 10 T
$H 21 g IS §

(4)



Correct Answer :-7

9)

Question Stimulus :-

Koshak Mahal is located at ./ ®IY® HEA # fRd gl
® Bhurhanpur / RGIHYY
® Naresar / IREX

® Karian / PRISHE

® Chanderi/ a%fr

Correct Answer :-Chanderi / 931

10)
Question Stimulus :-

The Indian Institute of Science is located at / WIRAT ﬁWWﬁHﬁW Rua %l
® Chennai /ﬁ'ﬁ"&g
® New Delhi /T-I'sfﬁc'_vﬁ
L Bangalore/a'TIFﬁ?
® Mumbai /ﬁ—tﬁf

Correct Answer :-Bangalore / TR

11)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauyd
98 T J1d DIford St arfpdl o ST 3|

e Beautiful and Handsome / J&3 3R GaRd
(5)



e Bother and worry / o3 &1 3R fzidT
e Cold and Chilly / 38 3T Tdf
* Avoid and seek / @¥ Y&l AR TEr=ET

Correct Answer :-Avoid and seek / g% Y& 3R TaTRMI

12)
Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. /38 i1 A,B,C,D,E 3R F %5 3t 3k &
U g dc WA S RIEEDF T SIRBICARBFAHTARIFER AT TTA I

Who is in the either side of A? /A & Sl 3R B 82
e DandE /D3R E
e BandD /B3R D
e EandF/E3RF
e CandF/CS3iRF

Correct Answer :-Cand F/C 3R F

13)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ff, U_E»'a' a1 uel & o= fopedt
PR W PIs day g 7 fawent & I 9rur ug g Rraer dR ug & a1y 3t 7oR &1 49y )

PRLN : XZTV :: JLFH : ?
® RTNP
® NPRT
® NRPT
® NTRP

Correct Anhswer :=RTNP

14)

(6)



Question Stimulus :-

What is the State Animal of Chattisgarh? / ST T ITS[d UL HI AT &2
 Wild Buffalo / STl HT
® Barasingha / FRGRITT
® Sangai / '\‘F'I'I'g
® Asiatic Lion /Efﬁlm's? !«ﬁ?
Correct Answer :-Wild Buffalo / STell HT
15)

Question Stimulus :-

Which of these countries does NOT border India? / g1 %Qﬁ H A DI 9T URd 91 AT T'|é)f %?
® Pakistan / UTfhAT
* China/dH
® Bangladesh/ ieTeR
® Thailand / UTSAS

Correct Answer :-Thailand / 4TSS

16)
Question Stimulus :-

Which atomic power station in India is built completely indigenously? / HIRd H P a1 UIHIY] Sl w'H U;\Pf
e U Wit adb-1d | 14T 14T §2

® Kalpakkam / PAUFPH
® Narora / “RIRT
® Rawat Bhata / ITddHTCT

® Tarapore / dIRTYR

Correct Answer :-Kalpakkam / hcldd H

17)
Question Stimulus :-

(7)



In column I are listed certain groups of individuals while in column II are listed some
of the characteristics against each group of individuals which are common to each

member of that group. / WY I a1y srfeaa IgEl < YRa owar 8,99 f5 WY II & Afeadl &
e 7o faRiuarsi & g a1 @ o S IHg & &R U 9o & e 9= &

Column I | Column IT
FHII TW
TIK PT
110 SUW
GHIKM RY
(GHI QRV
FGI PR
HIJ QTW
1L QSUM
(31] PQS

Which.characteristics are found either in J or in K or in both but not in M? / &I It
foRiaaT ureft wirelt € 3 a1 K F a1 S A, g M A T8

* P,QT
* P,QR,S
°* QRS,T
e UV,T
Correct Answer :-P,Q, T

18)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawrea ﬂﬁl";’,\_rl-']' qb DI i
q T fRT WS S a9 5

If Satish attends the training programme, then he will get promotion / afe AT ufRreror
STAwHH | M g €, 9 STD! gradt grft

e If Satish doesn’t attend the training programme, then he will not be promoted /afe

=T UfRreror Srisew § e T g ©, A IWH! Gt Tel grht

e If Satish didn’t get the promotion, then he didn't attend the training programme /

gfe etz &Y uered! T8l gidl |, a1 g uiieror srded § e 78 gam ot

e Satish attends the training programme and didn’t get promoted / TT=T ufRreror
SrdwpH § Wfira e ofik IS ugiad! =8 55

* None of the above / SWRIad ®I§ gl

(8)



Correct Answer :-If Satish didn’t get the promotion, then he didn’t attend the training

programme /vﬁmaﬁuaa?ﬁqﬁé?ﬁ%,ﬁagu&rwmﬁmqﬁganm

19)
Question Stimulus :-

Venkatraman Ramakrishnan won the Nobel prize for his work in the following field: / dpeH RTHPWIT el

Fufatea & 3 o &2 § orm e & e e REPR sitan
® Chemistry / 9T
® Physics / HIfadt
* Medicine / 39
* Economics / 3=

Correct Answer :-Chemistry / THAT

20)
Question Stimulus :-

Ajay and Vijay are brothers. Aasha and Kajal are sisters. Ajay’s son is Kajal’s brother. How Vijay is related to Aasha? /

3oTg 3R fasrar UTS &1 SIT=1 SiR FToTel 989 8 | SISTT FT 9T HIoTd T WIS ¢ | o amem & 2 et 82
* Father /fOaT
* Brother/ HTS
* Grandfather / GTGT
® Uncle /T

Correct Answer :=Uncle /dTdl

21)
Question Stimulus :-

This period referred to as the golden age of Hinduism was under the rule of / 9g PTdl o %g e} 1 wof qi
g1 oar g, e § @ foras e & i A

® Kushans / PUTUT
® Guptas /W

® Mauryas / i

©)



® Chedis /ﬁgj
Correct Answer :-Guptas / W
22)

Question Stimulus :-

Who is known as the ‘Milkman of India’? / “FIeha 3TH é'%m" & 919 9§ fHIP! ST SIrdn %?

RS Sodhi / 3R TF gt
Norman Borlaug / T IRanT
* GH Wilster / ST fawex

V Kurien / @Y W

Correct Answer :-V Kurien / df I

23)
Question Stimulus :-

Almost 90% of India’s trade by volume and 70% by value is transported by __./<WUI
90% YR HT ATIR AT gRT 3R 70% eI gRI ERT & ST ST 1

® Rail Transport / iﬁqﬁ'ﬂﬁ

® Road Transport / HS®H dIg ufasH
® Maritime Transport / '\‘Tﬂﬁ ufRag
® Air Transport / dlg uf¥ag-

Correct Answer :-Maritime Transport / sl URdg

24)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the humbers to form

meaningful word. / T & ATARRYT &R T A T &| yAP 3I&R I TBAPd a1 T 8| 98
farer A < 9o oI 9 A1 & o Temel & = u # 31&RY &1 Ygl W a1 B
TRIFU
12345
 3,1,2,4,5

(10)



* 4,25,3,1
e 4,3,2,1,5
e 53,214
Correct Answer :-4,2,5,3,1

25)
Question Stimulus :-

Who was the “nightingale of India”? / “HTRd BIpe” BI A2
® Sarojini Naidu / LIS aag
® Annie Beasant /E'_'ﬂ' CRi
® (Captain Lakshmi / %ET'T F’T&lﬁ
® Rabidranath Tagore / Ty MR

Correct Answer :-Sarojini Naidu / RIS ATIg

26)
Question Stimulus :-

Which of the following is a reversible change? / 37“?[@ Wﬂﬁﬁ?ﬁqﬁaﬁ:{%l
® Curdling of milk / ¥ T WAl
® Melting of ice / T BT IPEGE]
® Burning of wood /miﬁ STeHT
® Ripening of fruits / B¢l BT Uh T
Correct Answer :-Melting of ice / T T fraerT

27)
Question Stimulus :-

The national flower of India is / HIRd BT ?Tgl'q T T

® Rose /[dld

® |otus/ PHA

(11)



* Hibiscus / S8

® None of these / $TH | ®Ig gl
Correct Answer :-Lotus / PH
28)

Question Stimulus :-

Satya Harish Chandra was written by / I IS 3?% GIRT foraT T At

® Bharatendu / ‘l-ﬂ?ﬁ'g,’

® Bhasa / HTHT
e Kalidasa / Wﬁ?ﬂ'ﬂ
® Veda Vyasa / deaTy

Correct Answer :-Bharatendu / HRdg
29)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe @ﬁl‘l{
Sil 3T T ST vd el & aR § 9E B

Statements : / ®Y-:
Some buds are flowers / $9 WI%I'Q’[’W %

Some flowers are shrubs / 9 Bd %l'l'%'qT %
Conclusions : / fAehd:

I. Some flowers are not shrubs / I. $© Bd Ffeai T8l 8
I1. Some buds are not flowers / II. $© $fadl Ga 781 &

® Only conclusion | follows / W forepd 1 IGESGI %
® Only conclusion Il follows / Had freed 1 Freadar %
® Both conclusion | and Il follows /?a:ﬁ foreed 1 ﬁﬁ? II fFpad %
® None of the conclusion | or 1| follows/ﬁ'wﬂf IGTIIE S ?ﬁg qﬁ' Freean %
Correct Answer :-None of the conclusion I or Il follows / ffpd1arIId 9@ ﬁé Hﬁ fFreaar %

(12)



30)

Question Stimulus :-

At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three

of the program sets must be the ones that were operated on_the previous day. The program
operating must also satisfy the following conditions: / T® Sdaei-® Sel T SHTS UR,

P,Q,R,S,T,U,V 3X W 318 § | Uid ®risH! & g fod Tam &1 Ayl | ﬂ%ﬁ%qﬁﬁqiﬁw
;Tmﬁ?ﬁq Fad dF HRIHH U g F1ieC S fUed &9 game eI yara mad A w6l & SR
|

1. If program P is to be operated on a day, V can’t be operated on that day. / 1. 3R P
PTaewH Bt fioT =Tamar srem, @ 39 &9 v & gaman 981 o gl

. If Q is to be operated on a day, T must be one of the programs to be operated after Q. /

2
2. 3R Q HHiHH fHdt R aaman smew , T $riewHl # A U 91 IifeT St Q & 9I¢ Il ST 91 e |

3. If Ris to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R $RImH At foF Twmar simew, v $riwH A T giFT ey, St R & 916 Iaral ST 91ieel

4. The last program to be operated on any day must be either S or U. / 4. 3ifay wriwH Y
it &1 I SmeT, 98 S a1 U § 3§ U@ g 9feu|

If the sequence of program sets operated on a day is P,Q,W,T,U, each of the following
could be the next day’s program sets except. / 3R fa= ﬁ Eﬂ'ﬁﬂﬂiﬁ P IA™ BT HH 97 33[ mar
P,Q,W,T,U @, g # &% U wriwd geik 7 &1 $riwd 8 Todr @ 3u& ifaRa|

e W,T,U,V,S
* W,T,S,P,U
* W,RV,T,U
e QT,\V,W,S
Correct Answer :-W,T,S,P,U

31)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o ﬂﬁl‘Q
i fou T Hy=Y wd Fremul & R & wEt R

Statements: / ®YH:
Some pens are rubber. / P9 ®dH Wg"l

Some pens are daughters. / PO dH sfear %'I

(13)



Conclusions: / fto:
I. Some daughters are rubber. / I. $ afeai IR T

I1. All pens are rubber. / II. it saw W%'I
® Only conclusion I follows / aﬁﬂ forepd 1 IGESGI %
® Only conclusion Il follows / Had =y || Fpaar %
® Both conclusion | and Il follows /Z‘ﬂ:ﬁ e 1 3R 11 e %

® None of the conclusion I or I follows/ﬁlu':b_d: IFTIIH A aﬁé =I'€|' Freadar %
Correct Answer :-None of the conclusion I or Il follows / Ffepd1aTII® A 'ﬂﬁ"f qﬁ IECINGI %

32)
Question Stimulus :-

The Martial Arts Academy of Madhya Pradesh is located at - / H UG &1 AR 3¢ PHIGH
Rag

® Indore / S_v:ﬁ?

® Jabalpur / SIdeIYR

e Bhopal / HIUTA

® Umaria / SHRAT
Correct Answer :-Bhopal / HIUTH
33)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe ﬂﬁt{,\_rﬁ ab B €Y
AT WSS I 7 :

If you are good in English, then you can write a poem. / gfe SRR 3T 33wl # &I%%', GIREIL]
T Hiaar fora gad g1

e If you can write a poem, then you are good in English /memﬁl@mﬁ
ot 3y Sl oy &

e If you cannot write a poem, the you are not good in English / 3R 3ATY TH Hiadr Aol
g T@a g, ar oy 3ol & orsd IEt §

(14)



e If you are not good in English, then you cannot write a poem / 3R MY 3l A 3=y
81 €, a1 31U U Sfgar a1 forag Iod €

e If you cannot write a poem , then you are good in English / TR 39 T HigdT el ford
Thd ¢, df Mg e H o ©
Correct Answer :-If you cannot write a poem, the you are not good in English / 37X 31U
TS BT A1 [ IHd 7, af 3y el § srey 8 &
34)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / ¥% fad
A,B,C,D,E 3R F U% dI%I &1 T Wd 8 ¥ IYg # A & far, #rar iR arn A1 € afgeny <&t B, A &Y #rar
B U Ufd T ¥ 3P 3P U §UI WA § D Bl E I 3(fUP W F F $F 3P W §CI E BT Uiol B Ja9
$Y 3i® U g1 A & fUar 31 F 9 $if¥e 8w g WR e ot 98 @a =181 sid Ui

Who won the game? /@a ™ P Sidr?
e A
e B
« F
e D
Correct Answer :-B

35)
Question Stimulus :-

Which of the following belongs to the same family as Grandfather, Father, and Brother? / ﬁﬂ;l' A H9 I I

givaR 9 Haifyd € =9 5 grer, fuar ik Wige
* Baby / fIg

® Motherinlaw / I
® Son / G|

® Daughterinlaw / YAdY

Correct Answer :-Son / 91

(15)



36)
Question Stimulus :-

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / T®

DI e PUAT I A HHARG P forg TRagT &t a1 HA1 V| FUAT ' 3(eRT 3R T USKT TSieral 3
9 I 3R 3= Y faew 9

A. This option allows having uniform rate for day and night trips. This would cost you
Rs.1000 per trip. / A. 98 fd®eu &7 3R I &1 g & e quM o 311 91 3rgafa a1 g1 599 ufa g
3TYHT 1000 FT W SATTITI

B. This option has differential fare for day and night trips. Day trlps would cost 700 per trip
and night trips would be charged 1200 per trip. / B. 39 faweu # 29 3R 34 &1 a=n & foe &
3R g1 37 &t e § wfa ae 700 @mra meelt iR 7 ¥ ufdy g 1200 ag@r s

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /

C. 59 fdwed & o 91 &1 $d g & SMYUR U Y[eh fordn SR §99 ufd 9= 800 U foman ghm afe
g g8t 50 . it & 3if¥e Rt 3k 1100 FUT forar ghm afe gt 50 &. . I w1 gril

Option C would be preferable to Option B if: / fd®e0 c fd®ey B ¥ 9ga= ghm afe:
® If there are 3 day trips more than 50 KM / tlﬁs ﬁﬁiﬁm 50 1. H. '\a'GCI'IETEﬁI
® |f there are 3 day trips less than 50 KM /“Cl'% 3 ﬁﬁﬁtﬂiﬂ 50 Y. H. A B '[-?fl

® [f there are 4 day trips less than 50KM and 1 night trip less than 50 KM /'CI'% 4 f&=1 &t g % S 50

fpariier @ o0 g Sk 1 37 & ara g o so fraitfiecrawa 8
® |f there are 4 night trips less than 50KM/qﬁ 437d Bl TI'I‘?ITQ%\_rﬁ 50 freficr A &H %

Correct Answer :-If there are 4 night trips less than 50KM / ¢ 4 ITd B TTATY % St 50 fpaHier @ A

g

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d% faweu gFQ
it faT T Sy Td et $ aR # 9l 2

Statements: / $YUYH:

All red are blues / 9 @9 =a @
Some red are greens / 9 WA 33'%
Conclusions: / fApd:

I. Some blues are greens / I.$8 1A &¥ 8

(16)



II. Some greens are blues / II. $9 Eﬁ Hia %

® Only conclusion I follows / Fad et 1 Awear %

® Only conclusion Il follows / »ad ey 1 Freear %

® Both conclusion | and Il foIIows/T:ﬂT'ﬁ forepd 1 Gﬁ? II foad %

® None of the conclusion | or Il follows /ﬁl'lﬁﬂf ITTIIH '\ﬁ' aﬁ‘é qﬁ IBCASGI %
Correct Answer :-Both conclusion | and I follows/@:ﬁ faspd 1 ik 11 fFpaa %

38)
Question Stimulus :-

Who has been the Governor of Madhya Pradesh who has also been the Speaker of the Lok Sabha? / H&I U &

DN A ISAUTA AIH GUT P o1 I8 gD 82
® RP Gupta / 3R Ut Cr
* Bal Ram Jakhar / JERTH ATES
® BD Sharma / &t St T@f
* KC Reddy / & 3t ¥§!

Correct Answer :-Bal Ram Jakhar / 9eRTH SIS

39)
Question Stimulus :-

Indian Constitution has ./ HRd g Ifqemr= & %l

® 7 Schedules /7 W
® 9 Schedules / 9 3l
® 10 Schedules / 10 Biﬂ\ﬂﬁm'l
® 12 Schedules / 12 3T

Correct Answer :-12 Schedules / 12 \?rlﬁ'ﬁﬁltﬂ

40)
Question Stimulus :-
What was the birth name of Jahangir? / GET‘“Q DT STHCITd HTH =T YI?

(17)



° Khurram/@i'q
® Sher Shah /<R 2§

® Abdul Khan / 3fegel WTH
® Salim / JAH

Correct Answer :-Salim / ellq

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

CANCELLED

If 'TOUR’ is encrypted as 1234, ‘CLEAR’ is encrypted as 56784 and 'SPARE’ as 90847, how
will the word ‘SCULPTRE’ be encrypted as? / 4i¢ ‘“TOUR’ $I 1234 3 U4y fvar 11 8, *CLEAR’
%1 56784 9 TAHY forar a1 € 3fR "SPARE’ &1 90847 9, d9 34 ‘SCULPTRE’ &1 $d TAfHY H3I?

® 953601347
® 935601347
® 567903417
® 53016347

Correct Answer :-953601347

2)
Question Stimulus :-

I sent fifteen parcels of oranges. What was the total weight of the parcels, if each weighed
1 1

1oE kg? / 87 AR & U uria O] urRiel &1 gR1 99 4 ot afe uae 10E e urdt ur?
* 147.5 kg / 147.5 fFaum
* 127.5kg / 127.5 fHaramm
* 137.5kg / 137.5 fearm
* 157.5kg / 157.5 frarum

Correct Answer :-157.5 kg / 157.5 featma

3)
(18)



Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / ﬁTH Gﬂw & 91 & ol
Aaw w8 Bo fea-t dieh J@nsi $t smazadarn gtz

/\K\
X

. 14
17

21

o 24
Correct Answer :-14
4)

Question Stimulus :-

If the numerator of a fraction is increased by 40% and dominator is increased by 80%, then what fraction of the original

is the new fraction??/ af¢ THH &1 3T 40% W%QT\_IITa 3R & H 80% ﬁﬂmm?ﬁﬁlﬁ, I
i 7@ fy=1 &1 fpasr yrT gm?

W | =]

7
Correct Answer :-2

5)

(19)



Question Stimulus :-

If 'SLEEP’ is encrypted as *XMKKB’, ‘SPEAR’ is encrypted as ‘XBKOY’ and ‘PULL’ as ‘BFMM’,
how will you encrypt ‘PLEASURE’? / f¢ *SLEEP’ &1 ‘XMKKB’ ¥ TAfhy a1 741 8, ‘SPEAR’ &1
*XBKOY’ ¥ TAfhy far Tam € 3R "PULL’ &1 ‘BFMM’ 9§, 99 34 ‘PLEASURE’ &1 39 TAfHE HHI?

® XYKBMOKF
¢ KOXFYKBM
®* BKMOXEKY

®* BMKOXFYK

Correct Answer :~-BMKOXFYK

6)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 7Y 33 M 9R ual & ¥ R A 1 1d & S GHE SI9 1 UH T8 872

Sunrise County Canoe Expeditions, Inc.
Cathance Lake
Grove Post, Maine 04638

(207) 454-7708

(i) Sunrise County Canoe Expeditions, Inc.
Cathance Lake
Grove Post, Maine 04638

(207) 454-7708

(ii) Sunrise County Canoe Expeditions, Inc.
Cathance Lake
Grove Post, Maine 04638

(207) 454-7708

(20)



(iii) Sunrise County Canoe Expeditions, Inc.
Cathance Lake
Grove Post, Maine 04638

(207) 454-7708

(iv) Sunrise County Canoe Expeditions, Inc.
Cathance Lake
Growe Post, Maine 04638
(207) 456-7708
e |
e i
o fii
° iv
Correct Answer :-iv
7)
Question Stimulus :-

Milk contains 5% of water. What quantity of pure milk should be added to 8 liters of milk to reduce this to 4%?/ g4 H 5%

I 81 $UPT 4% TF geH & [T, Y g¥ 1 fHa-il AT &t 8 dlex gy ¥ firamr afde?
* 4liters/ 4 X
* 2liters/ 2 WX
* 3liters/ 3 WeX
* 1liters/ 1 A

Correct Answer :-2liters/ 2 dlex

8)
Question Stimulus :-
Complete the series choosing the missing number: / QW JBIT TIH FT@AT BT [ BIOT

400,441,484,

(21)



® 535

® 530

* 527

® 529
Correct Answer :-529
9)

Question Stimulus :-

A and B together can complete a work in 24 days. A alone can complete it in 40 days. If B does the work only for half a
day daily, then in how many days A and B together will complete the work? / A 3R B FH P U Y 24 fei #
R HR gPd 21 A 3P 40 G H 39 T #% Tovar 31 Tl B AT Had MY 7 & R s wH=ar g, @t a
3R B THATY ST $Y fraq 1 & g1 H92

* 24

* 30

* 36

* 32
Correct Answer :-30
10)
Question Stimulus :-

The average of first 40 natural numbers is? / Tgd 40 UIFTAP T=m3il FT fiTd 82
* 21
® 20
® 20.5
® 21.5

Correct Answer :-20.5

11)

Question Stimulus :-

(22)



Three dice are thrown simultaneously. What is the probability of getting a sum of 18? / 3 uﬁwwuﬁﬁwﬁ'l =
HHTIT 8 P 37 T IR A BT 18 3MMA?

® 1/216
e 1/9
® 1/6
* 1/36
Correct Answer :-1/216

12)

Question Stimulus :-

Mohit bought a stereo for Rs. 5863 & spent Rs. 1370 on its repairs then sold it for Rs. 5700 what is his

loss percent? / HIfigd 7 5863 $UY BT Tor TIRA TeT 3R TP AT WR 1370 IUY T fhd | ISP 9l
5700 9T H I 99 fean IT1 8+ ufama #T e 2

* 6%
* 4%
® 5%
* 3%
Correct Answer :-5%

13)
Question Stimulus :-
Complete the series choosing the missing number: / fAqW TBAT TAHY F@AT BT T BIOIT :

(2,3), (3,5), (5,7),(7,11),
* (11,14)
* (11,12)
* (13,14)
* (11,13)
Correct Answer :-(11,13)
14)

(23)



Question Stimulus :-
Complete the series choosing the missing letter/s: / fAqW &R TAH FTAT Bl T BIFIT :

aa _ baaa _ __aab _ aab
® aaba
® aaab
® baaa

® abaa

Correct Answer :-abaa

15)
Question Stimulus :-

In how many ways can a necklace with 8 beads of different colors be made? / fraq a8l F SrerT AT I F 8
Hifera! &A1Y TP R 991471 Sl IPpdl 82

® 5040
® 2880
® 2520
® 1440

Correct Answer :-2520

16)
Question Stimulus :-

Three dice are thrown simultaneously. What is the probability of getting a sum of 3? / 3 Lir WHTNWW%.I T
HHTGHT § B 3 URI UR el TBAT 3 3MA?

* 1/36
* 1/6
* 1/216
® 1/9

Correct Answer :-1/216

(24)



17)
Question Stimulus :-

In a certain code SMILE is represented by 36492 and RUN is. represented by 058. What
does the code 90089 represent in the code? / {3l @RI s A SMILE & 36492 ¥ gxiiar 141 §

3R RUN &1 058 I gXITa1 Ta1 8] 90089 HIs 3T HIs H T S=TdT 82

® LRRNL
® RNLLR
e NRRLL
® LRLNN
Correct Answer :-LRRNL
18)

Question Stimulus :-

The fourth proportional of the values 2.1, 3.5, 5.4 is / 2.1, 3.5, 5.4 HFI &1 94T IHHUC &
° 9.0
° 75
* 6.0
° 35

Correct Answer :-9.0

19)

Question Stimulus :-
A dealer gets Rs. 470 more if instead of selling a table at loss of 10% it is sold at gain of 10%. Find the
cost price of the table? / T fashal & 470 TU RIS fAraar 8 afg 10% & IJHaE W A9 997 & T 10%
®1 95d TR AW ST 91l 31 AW & AR Yod BT Udl T2

® 3350

® 4350

® 1350

® 2350

(25)



Correct Answer :-2350

20)
Question Stimulus :-

If a man walks at 12 km/hr he would have walked 20 km more. The actual distance traveled by him is:/ TI'% Th Gm

12 Torei/eier @Y wifa & aarar 8, ot 98 20f%H aiftre gt aa wear 81 SUd gRT a9 $t i} arafaw gl 8:
* 100 km/ 100 Tt
* 120 km/ 120 f5eft
* 80 km/ 80 fopeii
* 75 km/ 75 fopei

Correct Answer :-100 km/ 100 ot

21)

Question Stimulus :-

A thief is noticed by a policeman from a distance of 200 m. The thief starts running and the policeman chases him. The thief
and policeman run at the rate of 10 km / hr and 11 km/ hr respectively. At what distance will the policeman catches the

thief?/ I AT A TP TR BT 200 W $1 g8 A T@N1 TR 7 SsT I7= B2 fan iR gfergarar 39T fisTt w31
%ﬁ;eﬁ?mm:w%ﬂwa 11 f5fieer ot fa 3 <isd |1 gierarmen fPait g waR &t
o 2km/ 2 ol
o 2.2km/ 2.2 fHt
* 2.4.km/ 2.4 fHHT
* 2.6km/ 2.6 fHHT

Correct Answer :-2.4. km/ 2.4 f&e}

22)
Question Stimulus :-

(465/15)x2-(((180/3)x5)/10)-(36/12)=?
e 20
s 24
e 25

(26)



e 29
Correct Answer :-29

23)

Question Stimulus :-

If ‘HARD' is encrypted as 1357 and ‘SOFT’ is encrypted as 2468, what does ‘21448’ stand
for? / af¢ *HARD’ 9 1357 ¥ TATPH Y fhar W1 €, 3R ‘SOFT’ &I 2468 A TAfewy far mar g, o
121448’ T 3 FT8?

e SHOOP

* SHOOL

* SCOOL

* SHOOT

Correct Answer :-SHOOT

24)

Question Stimulus :-

Complete the following sequence of figures. / Gﬂqv-ﬁﬂﬁ & w9 3t T I

O | Q) [

)

L]
L
—

(27)



€ )

Correct Answer :-

25)
Question Stimulus :-

In a certain code Ianguage INSERT. is coded as JOTFSU then in that lang!.Iage PENETRATE
is coded as: / f&t @M Fibfdw YT T, INSERT &1 ®IS JOTFSU § df 39 YT ¥, PENETRATE &1

®ls gRM
 QFMFUSBUF
e QFOFUSBUG
® QFOFVSBUF
e QFOFUSBUF
Correct Answer :-QFOFUSBUF

26)
Question Stimulus :-
Complete the series choosing the missing letter/s: / fAgw (&R BT 4TAT B TR BT :

Pq _rp _Prpqp _ _qpr
¢ rppq
® papr
® pragp
® parp
Correct Answer :-pqrp

27)

Question Stimulus :-

(28)



The series given below contains a sequence of qlphapets,_numbers and symbols. Ideqtify
the incorrect combination: / 19 & T3 e 3ieRY T WA BT SIHH WANT Bl 8| Terd Faie=
LEELEE]

(i) hd@y3*sx0%$3a
(ii) hd@y3*sx0%$3a
(iii) hd@y3*sx0%$3a

(iv) hd@y3*sx0%$3a
o i
o i
o iii
* iv
Correct Answer :-ii

28)

Question Stimulus :-

A number consists of two digits of which the ten’s digit exceeds the unit digit by 6. The number itself is equal to ten
times the sum of the digits; Find the number. / T® TSI & 3! | sy g1 % forad 331% BT 3fh Eﬂﬂé &
3P T 6 ST 8| TTAT WY 3P| &b AN & & AT & RIS §; T 1|

e 60

e 42

e 82

e 71
Correct Answer :-60
29)
Question Stimulus :-

In the following q_uestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, G ka1 A TS U TEd §| Tad U Id Hifod| 2,8,16,64,128,510,1024

e 16
e 128

e 510
(29)



e 1024
Correct Answer :-510
30)
Question Stimulus :-
The HCF of 5a2’ 10a3p and 15ap is / 5a2’ 10a3p 30X 15ap &1 HCF §
e 5A
* 10a
® 15a

* None of these / 98 q $Ig 8!

Correct Answer :-None of these / $7H ¥ &3 gl

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Find the value of sin 60° cos 45° — cos 60° sin 45° / sin 60° cos 45° — cos 60° sin 45° &I
0 19 B

El“j

=

2
Correct Answer :-

2)
Question Stimulus :-

(30)



When dilute Sulphuric acid is added to Lime water what would be the products formed ? / SId dd®d '\‘IW
3T B g P ofd | Firerar Srar @ 9 S 9 Iarel &1 At giar @2

® (Calcium carbonate & water. /m PHIEE 3R U |

® Calcium sulphate & water. / SfRTH Fetbe 3R aFT

® Carbon dioxide gas and water. / Prad glgaﬁ'aaﬁs 9 3R Ut

* Sulphur dioxide gas and water. / B3 SEIHRES T T g
Correct Answer :-Calcium sulphate & water. / $TRTH Tebe 3R Y|
3)

Question Stimulus :-

What are silos and granaries ? / '\“ﬂ's;?ﬁ 3R 'EI'FCI'FTRW%'?
® These are metallic bins for storage / i} HSIROT & ﬁ‘ﬂ! i ﬁg %
® Use of neem leaves to protect the grains / SIHTSl Ca| qREn & ﬁ'ﬂ!’ HHH &1 ST %

® These are large scale godowns for storage of grains and to protect them from insects, rats and other pests /

%mﬁ%w%ﬁm&ﬁvaﬁaﬁaqﬁaﬁ?mtﬂsﬁﬁmﬁwﬁ%ﬁﬂa%ﬁqﬁwﬁm

® These are wayside storage bins / i} s fPR & vsRUr aﬁ}? %

Correct Answer :-These are large scale godowns for storage of grains and to protect them from insects, rats

andotherpests/xﬂ*ﬂﬁ%W%mﬁ?@aﬂaﬁmwmﬁwaﬂﬁ%ma@aﬂﬁ
W e §

4)

Question Stimulus :-

Following graph shows the percentage distribution of Graduates in all the six states of a country. The total number of
graduates in the country is 120,000. Answer the following questions using the information provided. / ﬁ'ﬁ' e %QT >
BE Isul ¥ Fae! &1 ufaxra faarur o 81 %1 o Wiaw! $1 $d 631 120, 000 g1 SUAH B3 T3
WHPR! ST SUAN & 4 Jaral & &a e S|
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Digtribution of Graduates

| 1 ufererd faavor
If half of the graduates from state A migrate to state C, what would be the difference in the number of graduates in state C
gjﬂB?/ﬁMﬁWWAﬁcmﬁﬁRnﬁaﬁ%%‘,a‘rcsﬁwﬂmﬁﬁmﬁﬁﬁwﬁ'waﬁ?
?
® 4800
® 8400
® 10800
® 13200
Correct Answer :-13200
5)
Question Stimulus :-

Loud noises that continue for a prolonged period can cause / Tzﬂ'ﬁ 3afy d Sl ?3% CINR CEREE:] T;-ﬁ' ghdl

High blood pressure / 3 Y&k MU

Ear drum damage / DI » tR% B &‘Iﬁf
Nervous break down / 3T /a1y
All of the above / BT@?R'T Tt

Correct Answer :-All of the above / SUgad Tt

6)

(32)



Question Stimulus :-

If the perimeter of a quadrant of a circle is 11 feet, find the radius of the circle. / ?T% qd G aguf&fr T IfRATYT 11
wic g, d@ 9a &I Bsar 31 31a S

e 7 feet / 7 BIC

e 7cm /79t

® 14 feet/ 14ple

* 21feet/21IC
Correct Answer :-7 feet / 7 ®ic
7)

Question Stimulus :-

Lenses are widely used in spectacle to / A BT YN ATIS &4 o I9%| | fopar srar %, 3'\‘1%7 ﬁ"'\’ :
® Protect eyes from sore eye / BE] alg P ELall & ﬁﬂ'{
® Prevention against conjunctivitis / SoAReHar MY § AR & o
® Help in the formation of the image / EICICERAREIMES Hag & m
® (Correct the eye defects / = a’cﬁ & I ﬁl’Q’

Correct Answer :-Correct the eye defects / 7T GItl & GRNEF & fog

8)
Question Stimulus :-

Which one of the following statement is false? / ﬁ'H 7 CaC| T BYA T %?

® Forest protects the top soil by preventing soil erosion / d- Hal UG Bl ABPT HUY Hal @t e Hd

® Forest help to maintain the water cycle / I STd Tch & UYoT B A He ™l CaG| %
® Forest plants and animals are independent of each other / 91 P gufd 3R U Uh W T wWdad %
® Forest influence climate and air quality / 9 T 3R aig C4| HCEI @I gUTIIT F3d §

Correct Answer :-Forest plants and animals are independent of each other / 91 P g 3R U ¢p

I & wad §
9)
(33)



Question Stimulus :-

You would have heard of the word ' Pashmina’. What is Pashmina ? / 3Mu+ “UxHAT e gAT
SR U= I 72

® Silk obtained from Mulberry . / RTed | e gl I |

® Wool obtained from Kashmir goat. / PR IH A U BT Sl

® J.eather obtained from cows. /TI'I'*ﬁ T ured JHST |

® Synthetic fabric produced in the textile industry. / d¥d ST § TG ARalfu® DUSI |
Correct Answer :=Wool obtained from Kashmir goat. / HIHR IHY q U g3l S|

10)

Question Stimulus :-

Following graph shows the percentage distribution of Graduates in all the six states of a country. The total number of
graduates in the country is 120,000. Answer the following questions using the information provided. / ﬁ'ﬁ qp %QT ®
BE IS4l A Wiaw! &1 ufa=ra faarr o 81 31 § Wias! $1 oo €SI 120, 000 g1 U HIS T
PRI $T IUAN S 7 Faral & §ae S|

Digtributon of Graduates

P! o1 ufa=ra faavor

If the average salary of graduates in state A and E are 4000 Dollars per month and 5000 Dollars per month respectively, what
is the average salary of the graduates in both the states taken together? / 3R IS H A 3R EP W] BT

Ufd HIg 4000 STeR 3T 5000 SIAR PHI: €, df SIHI IST] A W] BT N da- TP A1 fra=r grm?
* 4150
® 4250

® 4350

(34)



® 4500
Correct Answer :-4250

11)

Question Stimulus :-
A table is offered for Rs. 1000 with 20% and 10% off. If in addition, a discount qf .10% is
offered on cash payment, then the cash price of the table is: / T® A &I 1000 FUGI H 20%
U9 10% T & 1Y UAIad a1 Siar g1 afe $HP 3Adl, Th¢ YIaH $31 IR 10% H1 e yarad &t
T, &Y A BT 763 T4 8:

® Rs. 648

® Rs. 600

® Rs.504

® Rs. 650

Correct Answer :-Rs. 648

12)

Question Stimulus :-

Which is the hottest part of the flame of a Bunsen burner? /W a_"i'\" | T’ﬁ BT g9 T YT ﬁ:[ E3l %?
® TInnermost zone. / 3dvad Hed
® Middle zone. / A HSH
® Outermost zone. / dIgdH Hed
* In between innermost and middle zone. / 3tRa¥ HSd 3R A Hsd & aHg |

Correct Answer :-Outermost zone. / dgdH Hed

13)
Question Stimulus :-

The most common example of a curved mirror is / Th dsh E'CfUT P 9 GTHT 3GIevul % :
® Plane mirror / HHdA E('TfUT
® Rear view mirror / gl gdur
® Spherical mirror / e guor

(35)



® Looking mirror / =M
Correct Answer :-Spherical mirror / e gyor
14)

Question Stimulus :-

The body can only move when the force of friction / IRR aWt TEed HY G o9 gyur 99
® |s Equal to applied force / GRIE] M dd & TR Epf
® |ess than the applied force / ?F'ITa MU g dA BH Eﬁ

® Greater than the applied force / GUIE] MY ddd RRCIED Bpf

® Zero / Y

Correct Answer :-Less than the applied force / @Y T §d A HH Bl

15)
Question Stimulus :-

In the given figure, ABCD is a parallelogram V\_lith AB = DC = 10 m, BC=AD =15 m, BE =
FD = 8 m. Find the area of ABCD / 3¢ 7T i ¥, ABCD UT® HHidR agysl & d4T AB = DC = 10
#Hier, BC = AD = 15 Hic¥, BE = FD = 8 Hic¥ &1 ABCD &1 83%d JTd SIorg|

e 150 m? /150 Hiex 2
o 80 m2 /80 Hex 2
o 64m? /64 Wex 2
e 120 m?/120 Hiex 2
Correct Answer :-120 m2 / 120 Hiex 2

16)
Question Stimulus :-

If x:y=5:2, then the value of (8x + 9y) : (8x + 2y) is: / Tlﬁx:y=5:2,?‘W(8x+9y):(8x+2y)3ﬂﬂ'ﬁ%
® 26:61

(36)



® 61:26
® 29:22
® 29:21
Correct Answer :-29:22

17)

Question Stimulus :-

Represent graphically the linear equationx+y=1 / Y& FHiHRT x + y=1 | ﬁﬁ'ﬁaﬁ U Y a&ﬁg&

L
k"u._i_ .
o,
. o
I~
* . .
\\i
° T
¥
[ _
E
-
4l
1]
,éf’f
. r
.
. T
.|
I '|\..
- T i
pi
\‘.
T
[ ]
f
1 _-F

Correct Answer :-

18)
Question Stimulus :-

Noise pollution is considered to be caused by sounds louder than / 379 ¥ fd-t sifd® @
g A 3T UgUUT BT HRUT YT gial 82
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100 dB

50 dB

120 dB

150 dB

Correct Answer :-120 dB

19)

Question Stimulus :-

Following graph shows the percentage distribution of Graduates in all the six states of a country. The total number of
graduates in the country is 120,000. Answer the following questions using the information provided. / ﬁ'H e a'QT &
BE IS4l A Faw! &1 ufa=ra faaror fomar 81 ¢x1 & Wiae! $1 $a 6 120, 000 1 ST HIS T
SAFSHRI BT ITANT B 9 Faral & Sa9 ¢

Digtribution of Graduates

HiaP| o1 UfaRrd faaror
How many graduates are there in states B, C and E taken together? /B, C Gﬁ? E Tﬁ*ﬁ o ﬁﬁﬁ HIdPh %'?
® 40000
® 45000
® 55000
® 60000

Correct Answer :-60000

20)

(38)



Question Stimulus :-

Which of the following statements is false? / g & Qo9 W1 9y I % ?

® All equilateral triangles are similar / Tt qHdTg ﬁ‘ﬁﬁ TAEY Bid %

® All 30° - 60° - 90° triangles are similar / It 30° - 60° - 90° ﬁ"ﬁﬁ Y B 7

o All45°-45%-90° triangles are similar / Ut 452 - 450 - 90° ﬁ‘lj\_ﬂ gaHR™Y Eﬁ% %

® All isosceles triangles are similar / Tt '\‘l’ﬂﬁﬁ'@ ﬁ‘ﬁﬁr TR d %
Correct Answer :-Allisosceles triangles are similar / i H’Hﬁﬁ'@ ﬁ‘ﬁﬁ JAEY gld &
21)

Question Stimulus :-

The organisms which do not have nuclear membrane between nuclear material and

cytopla%_sm are called / 9% Sig SR T uert 3R FilkMemer & & Ty el 78 g &

® Prokaryotic cells / meRaifes ﬂﬁﬁﬁﬂq

® Eukaryotic cells / W ?ﬁ'&ﬁ'ﬂ'ﬂ:
® Prokaryotes / m

® Eukaryotes / q\%q"fz:\tr

Correct Answer :-Prokaryotes / HihaTc

22)
Question Stimulus :-

The basic unit of speed is, / T4 't AYd TS &,
® km/min
® m/s
® m/min
® km/h

Correct Answer :-m/s

23)

(39)



Question Stimulus :-

Oxygen is transported to all the cells of the body by the / RIS o1 TRaed IR B It P |
9P gRT fvaT &IaT @

® RBC

* WBC

® Platelets / @Y q@ﬂﬂ
® Plasma / WITSHT

Correct Answer :-RBC

24)
Question Stimulus :-

Following graph shows the percentage distribution of Graduates in all the six states of a country. The total number of
graduates in the country is 120,000. Answer the following questions using the information provided. / faaw 3w &
B8 Isal H Wiaw! &7 ufawe faavor f*amar 31 3% A Hiaed! @t $d WA 120, 000 31 ITAS BRI T8 SAHBRI
T I = 7 Farel & Sare g1

Digtibotion of Graduates

WIq®] BT Ufa=rd faaror

How many graduates are there in the state F? / oY F # faa |ae %‘?
® 38000
® 9200
® 9600

® 10000

(40)



Correct Answer :-9600

25)
Question Stimulus :-
In AABC, side AB is produced to D so that BD = BC. If LB = 60°, LA = 709, Find LBDC. /
AABC ¥, YSIT AB &) D 9% 3 UK g1 ol 3§ f5 BD = BC| 92 LB = 60°, LA = 70° §, @ LBDC
®T 9 1 DA
e 15°
® 30°
® 45°
® 60°
Correct Answer :-30°
26)
Question Stimulus :-

Hibiscus can be easily propagated by / [S&¢l BT yaefq 3'\‘!% BIRT ST T fopar ST "Hdar %
® Fragmentation / fogsa
® Budding / P

® Stem cutting / T HdT

® Spore formation /EﬂTrITUJ fermfor

Correct Answer :-Stem cutting / -1 Had

27)

Question Stimulus :-

Following graph shows the percentage distribution of Graduates in all the six states of a country. The total number of
graduates in the country is 120,000. Answer the following questions using the information provided. / ﬁ'ﬁ qTp a'SlT ¥
B¢ Isul ¥ Aaw! &1 ufazra faavur famar 81 ¢x1 o W] $1 o 61 120, 000 g1 U HIS T3
TSR ST SUAN $X 4 Faral & said 31
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Digtribution of Graduates

| o1 ufererd faavor
What is the difference in the number of graduates in states Aand D? / A GﬁT D TI\_ﬂ‘ﬂ' ﬁ' W ﬁ T ﬁ' T 3id} %?
® 30000
® 21600
® 18400
® 12000

Correct Answer :-21600

28)
Question Stimulus :-

The part of the thermometer that prevents mercury level from falling on its own is called the / yAiHiex F1 dg

T o URT & R @Y SruA 379 RA 9 JAwar 2, Seardl & :
* Kink / fb®
® Bulb / dcd

® Glass tube / T AferdT

® None of the above / SR ﬁ'é ot T'Iﬁ

Correct Answer :-Kink / fb®

29)

Question Stimulus :-
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CANCELLED

The sum of two rational numbers is -7. If one of the number is -15/19, the other number

is / & ufay "@el 1Rt -7 g1 9fe 398 | U T|AT -5/19 g, a9 S J&T gl

* -118/19

* 118/-19

e -118/-19

* 118/19
Correct Answer :--118/19
30)
Question Stimulus :-

Determine k so that the equation X —dxsk=0 , has two distant real roots / k

Praffa o¥ Rred s aftesor © ~H 0 F @ e avaRe 9o @

e
Correct Answer :-

(43)



